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1.  Answer any two from the following :

(a) F:aghav Ltd. pm‘vides the following infnnnatiﬁn. Calculate borrowing cost :
(1) Total project cost is ¥ 5 ¢r

! ore, 3 crore is financed by 8% debentures
repayable in 5 years, ¥ 1 crore by IFCI loan at 10% per annum and balance

of ¥ 1 crore by IDBI loan at 12% interest. Both loans are repayable after 5
years.

(i1) The cost of issue of debentures are 2 9,00,000.

(%ii) The service charges for both loans are ¥ 4,00,000.
(iv) Debentures are repayable at 5% premium.

(b) How will you value the inventory per kg. of finished godds consisted of :
Material Cost < 300 per kg.

Direct Labour Cost < 120 per kg.
Variable production overheads ¥ 60 per kg:

Fixed production overheads for the year on.nermal capacity of one lakh kgs.
is ¥ 20,00,000. 3000 kgs. of finished goods aré in stock at the year end.
Find the total cost of finished geods stock,

(c) Explain Monetary and Non-Monetary grants.

14

(d) Write note on Indian Accounting Standard-2 : “Inventory valuation”™.

2.  The following is the Trial Balance of Gaurang Ltd. as on 31-3-2023 : . 14
Debit Balances L. N Credit Balances 2
Debenture Interest paid 30,000 | Share Capital ' 20,00,000
Calls in Arrears 1,00,000 | General Reserve | | 1,20,000
Purchases 10,00,000 | Debenture Redemption Reserve 80,000
Opening Stock 1,60,000 | 10% Debentu}res _ 4,00,000
Debtors 4,00,000 | Public Deposits 1,60,000
Telephone Deposit 60,000 | Purchase Return 40,000
10% Government Loan 3,00,000 Sales' 24,;3,333
[ and & Building | 28,00,000 | Creditors g
Plant & Machinery 4,60,000 | Unclaimed Dividend ,000
Sales Return 60,000 | Bad Debt Reserve 36,000
Salaries 1,00,000 | Profit & Loss Account (1-4-22) | 1,84,
Other Expenses - :g,ggg 1
— a P.T.O.
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Additional Information :
(1) Closing Stock is valued at ¥ 80,000.

1S] it 10% on debtors.
(2) Make provision for bad debt, at . |
(3) Provide depreciation on Land and Building at 5% and Plant and Machinery at
10%.

(4) Make provision for taxation at 50% of profit.
(5) Transfer ¥ 40,000 to General Reserve. |
(6) The Directors have proposed 10% Dividend on share capital.

(7) Provide Corporate Dividend Tax at 20% (including surcharge and cess) on
proposed dividend.

Prepare Final Accounts of the company as per Companies Act 2013.

OR
(A) State the provisions of Companies Act regarding Managerial Remuneration.
(B) Write note on Evaluation of Internal Audit System. 7

|

3. Saroj Ltd. sells its products in containers charging them out at ¥ 60 each. Customers are
credited by ¥ 50 each if the containers are returned within ofie'month. For accounting

each, except those representing new ones which are valued at their purchase price
which is ¥ 35. The following particulars are availdble for the year ending on 3]*

March, 2023 : 14
Balance of Containers as on 1-4-2022 Nos.

with customers ' 12000

on hand 8000
Balance of Containers as on 31-3-2023

with customers 14000

on hand W 12000
Transactions during the year 2022-23

Containers sent out fo customers 30000

Containers retumned by customers 15000

Containers destroyed by fire 1500

Containers sold as scrap (Realised % 5000) 500

Repair expenses paid on containers retyrned amounted to ¥ 30,000

From the above information, Prepare containers Trading Account and containers
Provision Account.

OR

Erom the above information, pr- - containers Stock Account and containers Trading
Account. 14
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4. Devars.h sells goods on Hire- ;
sillerwings Infocmation, oo Ire-purchase by adding 25% profit on cost. From the

(1)

culate missing fi .
Shop Stock Account g Tigures and prepare : 14

(2) Hire-Purchase Stock Account
(3) Hire-Purchase Debtors Account
(4) Hire-Purchase Trading Account

Balance as on 1-4-2022 | ;

Stock in shop (at cost price) 40,000

Hire-purchase stock 50,000
Transactions during the vyear

Cash received fror_n customers 4,00,000

Purchases during the year - 3,60,000

Goods repossessed - ‘ 5,000

(Instalment due ¥ 20,000)
Balances as on 31-3-2023

Stock in shop (at cost price) 60,000

Hire-purchase debtors 55,000

Hire-purchase stock 25,000

OR
(A) Explain the types of lease. | 7
(B) Explain the difference between Finaneial Lease and Operating Lease. 7
5. Select the most appropriate answer from the alternatives given : (any seven) 14

(1) What is the title of Indian Accounting Standard — 18 ?

(a) Revenue Recognition (b) Inventory Valuation

(c) Borrowing Cost of Money (d) None of th.ese |
(2) Which of the following item is not included in c?st of :p?cn.ton?s ?

(a) Cost of purchase (b) Selling & Distribution expenses

(c) Cost of conversion (d) None “fth.ese C I T——
(3) When land is provided by Government at concessional rate, 1t 1s Kno

(a)_Monctary Grants (b) Donatlc;‘llh 3}

(¢). Non-Monetary Grants | (d) | l\fone ;: ;ducﬁﬁn R
(4) Which of the following expenses is admissible for €€

on?

1a] remuneratl
profit for manageria (b) Bad Tl

a) Salary .
EC; Depreciation (d) Allofthe above
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(6)

(7)
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(10)

(11)

(12)
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i eration rate as per
Which of the following rate is the maximum managerial remun p

Companies Act ? |
(@) 11% (b) 10%
(c) 5% - (d) None of these

Which of the following is not a Reserve?
(a) General Reserve (b) Bad Debt Reserve
(c) Capital Reserve (d) None of these

All entries in containers provision Account are made at .
(a) Charging out price (b) Purchase price

(c) Returnable price (d) None of these |
Containers with customers at the beginning of the year 40,000, containers sent to

customers during the year 1,00,000, containers returned by cgstﬂmerf _Sgobﬂ,
containers with customers at the end of year is 60,000. Contamners retained by

customers would be ;3
(a) 84,000 (b) 80,000

(c) 60,000 (d) 24,000 |

Containers returned by customers during the year is to be shownon . .
(a) Debit side of containers Provision Account

(b) Credit side of containers Trading Account

(¢) Credit side of containers Provision Account

(d) None of these
When goods sold on hire purchase are repossessed, hire-purchase Trading

Account is _ ‘.
(a) credited with unpaid instalment
(b) credited with estimated price or cost price
(c) debited with unpaid instalment

(d) None of these
The following information is taken from tlie books of a company :

4
Opening Stock at shop 50,000
Purchases during the year 4,10,000
Closing stock at shop 60,000

Goods are sold 50 as to make a profit of 20% on hire purchase price.

Amount of hire purchasé price of goods sent on hire purchase would be

(a) ¥4,80,000 (b) 1,00,000

(c) .5,00,000 (d) None of these

Which of the following statement is correct with respect to hire purchase price ?
(a) ‘Hire purchase price = Cash price — Interest P

(b) . Hire purchase price = Cash price — Depreciation

(¢). Hire purchase price = Interest + Depreciation

(d) None of these




